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Istanbul Commerce University
Faculty of Engineering
MAT121-Mathematical Analysis I
Summer School
Midterm Exam

Name-Surname: Abdullah YENER

ID Number: S O-Q;U\\\\'\Dv\ k{j 23.07.2019, 14:00

Department:

Attention. The exam duration is 90 minutes. The exam is out of 104 points and consists of 4 questions which
have more than one part. Write your name. surname and student number on top of the first page. Please read the
questions carcfully and write your answers neatly under the corresponding questions. Show all your work. Correct
answers without sufficient explanation might not get full credit. Calculators are not allowed, nor needed. Good
Tuck.
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(b) Does lim, 4 f () exist? Explain your answer.

No . Recause Here (s a Lr(qL at x=4.
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n (a) Sketch the graph of f. Find the domain and range of f.
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(¢) Is f continuous at z = 0 and at x = 47 Explain your answer.
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@ (d) Is f differentiable at z = 07 Explain your answer.
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(8+8+8+8) 2. Evaluate the following limits or explain why they do not exist (L’Hopital's rule is not. allowed).
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(8+48+48-+8) 3. This question has four unrclated parts.
(a) Find f'(z) if f(z) = V222 + 22 + 1+ 5.
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(b) Let f(x) =" + 27 + 3. Find (f~ )(‘3)
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(c) Let g(2) =14 /x and (fog) (z) =3+ 2y/x + . Find f'(2).
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(d) If sin (ry) = 22 cos y, find d— at the point (2,7/2).
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Determine the values ol a so that [ is continuous at x = 0.
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(10) 1. Let
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